Q.1

Answer the feliowing (Any four)
a. Explain Bode diagram for transportation lag,.

- . .4:‘;-:':?"
b. Derive the transfer function for damped vibrator. L o

C. Explain valve positioners, » - ‘\é} ]

d. InaPID controller the error is increased linearly at the rate o 5°C/ min Tii:‘;'

proportionaij sensitivity of PID controller ;

time tp is 0.5, Obtain the response e

€. Difisrentiate between Positive and ne

gative feedback control systerm

Q2 a. Derive the transfer function of two tank interacting SYSﬁT;;".‘ ‘I
b. What is cascade control? What aie the adva.ntag&iof};hscade contiol?
C. Explain Bourdon tube pressure gauges. ‘;5:\
o

Q3 a. Inthe two tank mixing process shown i

the figure, x varies from 0 Ib salt / fi* to 1
Ib salt/ ft* accerding to a step func;,i?-

‘

n. At what time does the sait concentration in
L
the tank-2 reaches 0.6 1b salt/ f* ! :’Fﬂe hold up volume of each tank is 6 &',
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b Deterﬁ:;?ne the stability of the control system having open loop transter function as

(s . — Determine Ke for which the system just causes mstability.
G“) T S(S+1)(5+2)

Q ﬁi : éketch the Bode diagram for the two tank non- interacting first order systems in
4-a.
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Q.6 Write a note on (any four) £ Y
. )
&. Pland pp controller \;:}
b.  Transient res f - fﬁ)sx {
_ porse of first OtGer System for \mit step change
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